= >
N = 0 &8 AH Y H N AN
20188 &= =& 4 g LBtg ) HAH
M B
Hu: F0 OE MHIA RIB(HEH)
cHol: 580 HHM 29 (el & &)
2 A .2 (S H) - HEMNY - BHES 01l Ao I AR Husz
HAEH 3,313,012 3,300,204 12,808
0l OtE MH A MB(HEAY) 596,286 596,286 0
SEF0 HMH 29 596,286 596,286 0
2 U H2(HAEH) 152,211 152,211 0
401 Al 2 HIZ 20| 43,300 43,300 0
01 A& H| 43,300 43,300 0
HEOIAZAIA EHDES FH 15,000,000 15,000 20,000 A5,000
OSEOASALA HEHZEH 5,000 0 5,000
FOHEOSA XAHL(HAH) 2,190,100 2,190, 100 0
ZEUS NG (HEH) 2,190,100 2,190, 100 0
ARD FOSSAAN(HAH) 1,250,000 1,250,000 0
401 AlE Y2 20| 1,250,000 1,250,000 0
01 Al&H| 1,250,000 1,250,000 0
O=2s M AH|(L=50m, H=1.6m)
A 22,650,000 22,650 25,000 A2,350
OAZE 2RI (14!) A3 7,570,000 7,570 12,000 A4,430
oOrE 822 ¥ =2 HEZE(L=30m)
Z3 15,310,000 15,310 23,000 A7,690
O/EHE NISXYZ0LA RS M 2| I EH(L=380m
) ZF 17,440,000 17,440 18,000 A 560
O/ EE Hi<42FH|(L=200m)
23 12,700,000 12,700 17,000 A 4,300
OLE =2 ZX(L=190m) 23X 23,670,000 23,670 26,000 A2,330
OHS M2I0l =2 X & (L=150m)
23X 19,940,000 19,940 20,000 A B0
O-Eh =2 A (L=100m) Z3 10,690,000 10,690 12,000 A 1,310
OdY s2 A (L=150m) 23X 28,370,000 28,370 31,000 A2,630
OAtal HH22F ] (L=150m) Z A 18,080,000 18,080 15,000 3,080
OLDH DISANYZANHE L (EZE=70m AIHE %
L=50m) 23X 20,590,000 20,590 25,000 A4,410
OER =28 A (L=130m) ZA 21,390,000 21,390 22,000 AB10
OAGTY =10 S22 Z A (L=150m)
A 20,210,000 20,210 22,000 A1,790
O’ T2 DtE2xUZ THIE A (L=50m)
A 12,120,000 12,120 15,000 22,880
O2E1 0ISTUZ AL 2 (L=80m)
A 20,490,000 20,490 33,000 212,510
O2 L2 DISXY2 OtAZ S M 2 I I EH(L=300m
) 23 15,070,000 15,070 15,000 70
O82 Sz XA (L=70m) 23X 12,500,000 12,500 12,000 500
OE4d1 OIS Z20tAZH M D] I 2 (L=680m)
AX 27,710,000 27,710 28,000 A 290
OFH S24027 S 2NN 19,480 0 19,480




2N
X ZH -
L= B

el

.42 (SAH) - HRAS - BES Ofl & oH I & Hns2Z
O2d2 6302 MY 2T ZF(L=250m)

AH 13,770,000 13,770 22,000 A8,230
OXZ LAHML(LH14)  HH 21,000,0002 21,000 20,000 1,000
O0AIZE HMAELHETS AANEHSY 19,020 0 19,020
ORE 02322 M = A (L=200m)

A3 16,210,000 16,210 20,000 A3,790
ONE AdldxNETS AANLEHSH 18,980 0 18,980
OUEl S22 F L HHL=Z & H|(L=170m)

23X 25,120,000 25,120 28,000 A2,880
OFd MM =4 11,000 0 11,000
O=g1 s2Z & (L=150m) FF 13,520,000 13,520 20,000 16,480
ONEEN E34+2HSES 6,220 0 6,220
OAFI12: B =2 & HI (L=100m)

23 15,990,000 15,990 18,000 ~2,010
Ot dad =4 6,600 0 6,600

S =234 (L=110m) H& 21,020,000 21,020 26,000 ~4,980

OFHA M 2 HH| 5,680 0 5,680
OO0|® =2 I A (L=200m) 23 23,630,000 23,630 26,000 12,370
OUd sz2=F 21,480 0 21,480
O&s1 S2ZF(L=130m) JF 18,730,000 18,730 17,000 1,730
OXZ 2HFY2 U =22 6,340 0 6,340
Od&2 52 Z 2 (L=20m) 23 14,930,000 14,930 16,000 21,070
ONE s22& 6,970 0 6,970
Ogd(d®) sta=4d 11,650 0 11,650
OM&3 RSB 42 4l (L=300m)

23 30,500,000 30,500 30,000 500
O&f%4 HH2=2 FHI(L=100m)

A 9,250,000 9,250 12,000 A2,750
OFZBAIZE 2 XHdAMESEX 350 0 350
OZH =z Z&(L=70m) 2 6,860,000 6,860 12,000 A5, 140
OHC &2 F Y 6,500 0 6,500
OO AbZ SAMXI(14]) AH 24,730,0002 24,730 26,000 A1,270
OMEE HEEs U Hi42F 6,530 0 6,530
OUA DtESAY2 T == (L=800m)

23X 37,460,000 37,460 36,000 1,460
O=E1 s2Z & (L=130m) FF 15,740,000 15,740 17,000 A1,260
Od®E2 =22 & (L=90m) Z& 8,670,000 8,670 15,000 16,330
ONZ =24l (L=170m) FH 15,250,000 15,250 15,000 250
OZ%1 HHi =2 & HI (L=240m)

A 27,370,000 27,370 33,000 A5,630
OAFDI9 OFA 25 M 2] (A=22a)

A3 17,390,000 17,390 20,000 ~2,610
O=9 HUYH™al& ZE(A=240m)

23 8,290,000 8,290 13,000 ~4,710
OatAl =2 & (L=120m) AH 15,970,000 15,970 20,000 £4,030




2N HEH
MM ZOHOZA AP (HAEH)
Chel: REUS KUNL(HEM) (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
ORZ 22X H(L=105m) Z A 17,220,000 17,220 20,000 A2,780
OMNBH =2 L E(L=180m) 23X 29,140,000 29,140 29,000 140
OAE] S2E A (L=150m) Z A 25,410,000 25,410 24,000 1,410
OMHEl HH&=2F I (L=18m) F A 22,420,000 22,420 34,000 A 11,580
O2&E2 42 &4l (L=130m)
23X 17,580,000 17,580 24,000 AB,420
OXNZ 22X (L=250m) Z A 28,900,000 28,900 29,000 A 100
O=2n s2ZE(L=100m) 23X 17,140,000 17,140 19,000 A 1,860
O/NGE2 =2 I & (L=60m) ZA 9,240,000 9,240 10,000 AT60
O=2S 52 EA(L=30m) ZH 15,790,000 15,790 14,000 1,790
OAl" HH2=2F 4 (L=200m) ZA 30,150,000 30, 150 30,000 150
O842 =2 X4l (L=24n) AZE 8,400,000 8,400 18,000 29,600
OEEH OtA RS M 2| (A=24a)
23 21,290,000 21,290 20,000 1,290
OXE LHSXZAL L DISTUYZEL(14])
A 22,650,000 22,650 30,000 27,350
ODn4 Hi&=ZFbYI(L=60m) ZA 12,800,000 12,800 12,000 800
O21 =2 MEA(L=150m) Z A 22,830,0002 22,830 25,000 22,170
ONHE S=2HEE(L=140m) 23X 20,340,000 20,340 25,000 4,660
ARE HERAY(FAH) 940,100 940, 100 0
401 Al Y2 20| 940, 100 940, 100 0
01 Al&H| 940, 100 940, 100 0
SH S2461= 7 (L=60m)
ZX 25,000,000 25,000 28,000 23,000
OO0 AFR MI& 28123 (L=200m)
ZX 24,300,000 24,300 20,000 4,300
O N& 2522 (L=70m)
23X 17,700,000 17,700 21,000 23,300
O21 M#oIotS ML= (L=1,160m)
23X 19,700,000 19,700 21,600 21,900
O21 Y002 H&E251= 3 (L=500m)
ZA 37,900,000 37,900 37,500 400
OXs H& 26023 (L=60m)
ZH 19,200,000 19,200 22,000 A2,800
ORE NE2=H=E2(L=120m)
23X 34,000,000 34,000 36,000 22,000
ONEASGAE 28127 (L=80m)
23X 28,900,000 28,900 32,000 23,100
OZHAGHAE 2= (L=100m)
ZX 25,900,000 25,900 36,000 A 10,100
OHCHAGIAE 28122 (L=70m)
ZH 24,900,000 24,900 28,000 A 3,100
OFA5A =22 (L=110m)
Z X 25,400,000 25,400 35,000 29,600
Ol AGHE 28123 (L=200m)
ZH 26,600,000 26,600 30,000 23,400




2N
X ZH -
L= B

el

SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
OLEAGHE =0l =+ (L=60m)
2 & 27,600,000 27,600 25,000 2,600
OFZ1 M&E=all=(L=60m)
2 & 20,600,000& 20,600 24,000 A 3,400
O2=E M&E == (L=100m)
2 & 23,600,000 23,600 30,000 A 6,400
OnH SLHA 2o =7 (L=220m)
2 & 10,500,000& 10,500 22,000 A 11,500
Oy AN==2 o= (L=250m)
& & 33,500,000& 33,500 37,000 A 3,500
Oy Wabi+==2 ai=7(L=110m)
2 & 25,000,000 25,000 27,000 A2,000
OdME1 HEA =0l =+ (L=50m)
2 & 5,500,000& 5,500 25,000 A 19,500
OXNZ MHZMA ==dH=-(L=120m)
2 & 20,500,000& 20,500 20,000 500
O&s&1 s2 MY =5l = 7 (L=80m)
2 & 23,000,000 23,000 37,000 A 14,000
Oa&2 ME ===+ (L=50m)
2 & 13,500,000 13,500 25,000 A 11,500
O& &3 ME ===+ (L=30m)
2 & 34,600,000 34,600 37,000 A2,400
O&&4 ANSEHE =7 (L=115m)
Z& 27,000,000 27,000 38,000 A 11,000
OOotsioi A0l M ==aH=+(L=150m)
2 & 17,000,000 17,000 32,000 A 15,000
OXNE SM2 M&E ==olil=+(L=250m)
2 & 30,900,000 30,900 35,000 A 4,100
O#d Zeld ==+ (L=100m)
2 & 28,500,000 28,500 35,000 A 6,500
OUE! bH=2 W (L=43m) 16,700 0 16,700
OAtet A& & AFH 2 2= (L=31m) 7,500 0 7,500
OAPIY AFRZSE(14]) 2,900 0 2,900
OaEAE(AME) MEn 2=(14) 1,000 0 1,000
Ot (3 21) dtaE4H (v=1073m) 4,900 0 4,900
O2=E otx=EF&(14) 2,200 0 2,200
OXMEE ==& FHl(L=80m) 38,000 0 38,000
OAFJ19t A& &I (L=50m) 34,100 0 34,100
Q& &l HI& & HI(L=100m) 38,000 0 38,000
HY2IZH (&) 499,272 486,464 12,808
oleEARIH(H&EY) 381,217 364,391 16,826
QlAHI(EEY) 381,217 364,391 16,826
101 Q124 H] 381,217 364,391 16,826
01 2=+ 71,000 64,174 6,826
OFBHEH AN2A22=E 2 & 71,000,000& 71,000 64,174 6,826




SN HES
I HH2Y A (HEE)
ol el (FHY) (29 a8)
SA- - H2A(3A) - MRANEY - BES Ofl &F 4 I ZH Hus2
03 RIHLZ 22> 310,217 300,217 10,000
OgZz0lsA 310,217 300,217 10,000
-2 (6Y) 33 309,497,000& 309,497 299,497 10,000
[=ZH(¥3dH) 118,065 122,073 A4,018
=2z (¥dg) 118,065 122,073 A4,018
201 B2 40,842 42,360 A 1,518
01 At2 22l H 30,126 31,644 A 1,518
OJl2+8Hl d & 13,500,000& 13,500 12,312 1,188
OPIE=g=1.] 3 & 6,700,000 6,700 5,608 1,092
OUlza=s2 2,076 1,824 252
-Agaz Z & 13,0008 » 118 « 128 1,716 1,404 312
T 3y 0% 0 60 £60
O AH| 2 & 7,850,000 7,850 11,900 A 4,050
405 Xt&tE = HI 13,973 16,473 A 2,500
01 ML ESFHSH 13,973 16,473 22,500
Oszolgs AT 3y 0¥ 0 2,500 A2,500




